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Question 1
Question Type: MultipleChoice

Which of the following are characteristics of database procedures?

Options: 
A- Database procedures can have both input and output parameters; however, a parameter CANNOT be both input and output.

B- Database procedures can have several output parameters, and a mix of both scalar and table types is possible.

C- If, in the database procedure header, you use the READS SQL DATA option, then INSERT statements are prohibited; however,

dynamic SQL is allowed.

D- If, in the database procedure header, you use the SQL SECURITY INVOKER option, then only the owner of the procedure can start it.

Answer: 
B

Question 2
Question Type: MultipleChoice



You are asked to produce sales value for the month using sales order line items (sales price per item x quantity sold) what do you use to

achieve this in a calculated column of a calculation view? There are 2 correct answers to this question.

Options: 
A- Keep flag

B- Dynamic join

C- Transparent filter

D- Non-equijoin

Answer: 
B, C

Question 3
Question Type: MultipleChoice

What statement must you insert to the following OData service to complete the navigation definition from the customer entity set to the

corresponding sales orders? Please choose the correct answer.



service{ "sample.odata::customer" as customer" navigates ("Customer_Orders* as "toOrders); "sample.odata::salesorder" as "Orders";)

Options: 
A- Aggregation

B- Association

C- Key specification

D- Join condition

Answer: 
B

Question 4
Question Type: MultipleChoice

What are the nodes where filter expressions can be used in a calculation view? There are 2 correct answers to this question.

Options: 



A- Aggregation

B- Star join

C- Union

D- Rank

Answer: 
A, B

Question 5
Question Type: MultipleChoice

You define exception handling in a SQL Script procedure. What can you use declare exit handlers for? There are 2 correct answers to

this question.

Options: 
A- Generic SQL conditions

B- Generic SQL exceptions



C- Specific SQL error codes

D- Specific SQL conditions

Answer: 
C, D

Question 6
Question Type: MultipleChoice

You created several database tables in a multi-target application and need to keep their names as short as possible. Which parameter of

the .hdinamespace file do you set to ignore? Please choose the correct answer.

Options: 
A- name

B- hdbtable

C- mixinTypes

D- subfolder



Answer: 
D

Question 7
Question Type: MultipleChoice

To perform a specific task of an XS advanced application, what does a user need? Please choose the correct answer.

Options: 
A- To have directly assigned a Role Collection

B- To have directly assigned a Scope

C- To be assigned to an Organization

D- To be assigned to a Space

Answer: 
A



Question 8
Question Type: MultipleChoice

Which OData capacity do you use when you need to restrict the number or selection of exposed columns? Please choose the correct

answer.

Options: 
A- Parameter entity sets

B- Aggregation

C- Key specification

D- Property projection

Answer: 
D

Question 9
Question Type: MultipleChoice



In which of the following objects can you use Commit and Rollback statements? Please choose the correct answer.

Options: 
A- Scalar user-defined function

B- SQL Script procedure

C- Table user-defined function

D- Scripted calculation view

Answer: 
B

Question 10
Question Type: MultipleChoice

Which configuration file indicates the program that is executed upon start up when you run the Node.js module? Please choose the

correct answer.



Options: 
A- package.json

B- project.json

C- server.js

D- mta.yaml

Answer: 
A

Question 11
Question Type: MultipleChoice

You need to manage an exception in a SQLScript. Which SQLScript features can you use? There are 2 correct answers to this question.

Options: 
A- DECLARE EXIT HANDLER



B- SIGNAL

C- DEFINE RESIGNAL

D- CREATE EXIT HANDLER

Answer: 
A, B

Question 12
Question Type: MultipleChoice

Which join type is NOT supported by join optimization (pruning)? Please choose the correct answer.

Options: 
A- Outer Join

B- Text Join

C- Referential Join

D- Inner Join



Answer: 
D
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